AQA GCSE Maths - Terminating Decimals

Q1.Put these in order starting with the smallest value.

13 1
73 35 3.15

You must show your working.

----------------------------------------------------------------------------------------------------------------------------------
----------------------------------------------------------------------------------------------------------------------------------

Largest v

Q2.(a) Write 30% as a fraction.

(b)  Write 80% as a decimal.
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(Total 3 marks)

(1)

@



AQA GCSE Maths - Terminating Decimals

2
(¢) Circle the two values that are equivalent to 3
66 ; 66
100 0.6 60% a9 0.6
(2)
(Total 4 marks)
232
Q3.(a) Write 7 asanimproper fraction.
ANSWE «iiiiiiiieie et ceereeee et e ertaseertbeessrasesssnesenns
(1)
2
(b)  Circle the fraction that is equivalent to 3
4 7 15 16
9 8 20 24
(D)
(¢) Putthe numbers 2,4, 5and 9 in the boxes to make the fraction equal to the
decimal.
(1)

(Total 3 marks)

1
Q4.Circle the three values that are greater than 2

0.32 65% 0.76 40%

Lo pa

1
4
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(Total 3 marks)

Q5.(a) Write 3.574 to1 decimal place.

F 1Y V=]
(1)

(b)  Putthese decimals in order, starting with the smallest.

0.5 0.62 0.325

ANSWET .cvuurvvnnrennnnee. ) eerreeeneerreeees ) reereeneereena.

(1)
(¢) Circle the two values that are equivalent to 0.8
8% i 80% 8— 1
? 5 ° 100 8
(2)
(Total 4 marks)
Q6.Complete the table.
Fraction Decimal Percentage
1
s 50%
k] 0.75
4
0.10 10%
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(Total 3 marks)

Q7.Here are four rods.

Not drawn
accurately
A B C D
3.4m 3%”1 3.35m 3.1m
(@)  Which rod is the longest?
ANSWE «iiiiiiiiiie et et ee et eertbneertsasessrasessrnnnenns
(D)
(b)  Work out the total length of rod C and rod D.
ANSWEL ittt er e e s e e e s eba e esaaaes m
(1)
(¢)  Which three rods have a total length of 10 metres?
ANSWEr ...coevveeeenens and ....eeeennnne. and ....ooeeeeeeeeens
(2)
(Total 4 marks)
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Q8.1In each part, circle the odd one out.

Give a reason for your answer.

3
@ 75% 4 0.75 7.5
2T 0] o I
(1)
2 4 6 8
(b) G 10 18 24
R q=T= 1Yo )
1)
© B4 -81 128 144
[Rq=T= 1Yo ]
1)
d 12 13 15 17
LRUT= 110 o R
(1)
(Total 4 marks)

3
Q9.Which is bigger, 0.38 or 8 ?
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You must show your working.

(Total 3 marks)

27
Q10.Use your calculator to change 64 toadecimal.

(@)  Write down your full calculator display.

ANSWET ittt eeteeereeraeesteeraeesaessnnesanns
(1)
(b)  Give your answer to part (a) to 3 decimal places.
F 1YY= SRR
(1)

(Total 2 marks)

Q11.(a) Write 80% as a decimal.

F N 1YV
(1)
(b)  Write 0.7 as a fraction.
F 1Y V=] S
(&)
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3
(c) Write 4 as a decimal.
F N 1S L= U
(1)
3
(d)  Write 80%, 0.7 and 4 in order with the smallest first.
ANSWEF .cvevviniinennnen. ) reerreenerrreeneens ) eerneernreneernes
(1)
(Total 4 marks)
Q12.(a) Hereis asquare grid.
What percentage of the grid is shaded?
ANSWE ittt erebe e s e e e s sb e esaaaes %
(1)

(b) Hereis another square grid.

Page 8



AQA GCSE Maths - Terminating Decimals

Q13.

(©)

What fraction of the grid is shaded?
Give your answer in its simplest form.

1
Shade 8§ of this square grid.

1

(@ () Write 4 asa percentage.

F 1YY= R

(i)  Write 30% as a decimal.

1

(i)  Write 4,30% and 0.2 in order with the smallest first.

(2

@
(Total 4 marks)

%
(2)

(1)
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(b)

(c)

Complete the following.

o] ma
1l
I

(i)

3

Work out & asa decimal.

Q14.(a) Complete the table.

Fraction Decimal Percentage

3
]

75%
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(1)

(1)

(2)
(Total 7 marks)
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g

— 0.9

10

0.3 30%

3)

3

(b)  Write 4,0.9 and 30% in order with the smallest first.
ANSWET ..cueevevereenenen, ) eeerreneeeerenereeranas ) rereeerreeennerernaeenas
(1)
(Total 4 marks)
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